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HOUSEHOLD PURCHASES DOMINATED
THE MOVEMENTS OF GDP IN THE
GREAT RECESSION
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THE RATIO OF CONSUMPTION TO
DISPOSABLE INCOME
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REAL HOUSEHOLD LIABILITIES
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BURDEN OF DELEVERAGING AS A
PERCENT OF CONSUMPTION
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(GOOGLE SEARCHES FOR “WITHDRAWAL
PENALTY”
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INDEXES OF LENDING STANDARDS
INFERRED FROM THE FRB SENIOR
LoAN OFFICER SURVEY
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INTERTEMPORAL SUBSTITUTION
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INTERTEMPORAL SUBSTITUTION

Aloge, = o(d; — p)

d; is the consumption-relevant discount rate and p is the
rate of impatience

d; captures the financial risk (correlation with marginal
utility) of future consumption

Increase in d; alters consumption plans toward higher
growth, and thus lower current consumption



DI1SCOUNT RATE FOR THE S&P
STOCK-PRICE INDEX
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